Key Learning: To use dienes to subtract when crossing tens (practical). 18.1.2021
Success Criteria:

- I can exchange a ten for 10 ones.
- I can use dienes to subtract a 1 digit number from a 2 digit number.
- Ican use dienes to subtract 2 digit numbers.

Deepening: Word problem solving.

Practise

Use the dienes to solve the subtraction equations. and
consider
17 -9 = 26 - 8 =
21-7 = 42 -6 =
33-9= 53 -4 =

Use the dienes to solve the subtraction equations. -

33-17= 48 - 29 =
62 - 18 = 73 - 44 =

21 -16 = 54 — 25 =
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